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1. Case-control study
2. Health promotion
3. Descriptive epidemiology
4. Food frequency questionnaire

5. Nutrition claim
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5. Please design two randomized controlled clinical trials, including cross-over and
parallel designs to investigate the effect of tocopherol supplementation on
inflammatory markers in central-obese elderly women. (14 %)
6. Please calculate the nitrogen balance using the following data: (6 %)
Female, aged 20 y, body weight 50 kg, height 160 cm, serum creatinine 0.7 mg/dL,
protein intake 62.5 g/d, urine volume 2000 mL/d, urinary urea nitrogen 300 mg/dL.
7. There are two forms of iron in foods, heme iron and nonheme iron. Please answer
the following related questions: (10 43)
(1) What form of iron is better absorbed? Please state the average absorption rate
for each.
(2) Which form of iron accounts for a major proportion of dietary iron intake? How
are the distributions of both forms of iron in plant foods and animal foods?
(3) For the form of iron hard to be absorbed, which of the following items can
improve its absorption if eaten simultaneously: tea, orange juice, meat, whole

grains, gastric acid, milk.




